
Lodz Scenario
To play Lodz you will need Tannenberg (T) and Galicia (G) and the extra counters from Serbia.

Area in play boardered by T XX17 , T 12XX, T18XX and GXX06 all inclusive.

Scenario special rules 

1
The Russians can not enter or attack into any hex starting with the digits 12XX until the beginning of Turn November 6 nor enter or attack into XX06 ever except reinforcements may arrive but must exit as soon as possible.

2
The Russians must keep 2 Divisions of infantry per hex from 1302 G to 1306 G until the beginning of Turn November 6.

3
Until the German 9 Army arrives the Germans may trace supply to 1119 and may expend supply from the 9 Army HQ as if it were occupying hex 1119.

4
The German is the first player.

5
Start date November 4 end December 2

6
Use the winter weather rule from Serbia.

7 
Victory 

The Russians get 2 points per German strength point lost and 1 per turn they were the last to occupy Lodz.

The Germans get 1 per Russian strength point lost and 1 per turn they were the last to occupy Lodz.

At the end of the game the side occupying Lodz gets 5 points.

The side with the higher total wins.

Although not a rule the Russian player is advised to look out for the German reinforcement schedule otherwise he can have a nasty surprise.

Russian set up

Unit




Hex 
Map
Game the unit is from

13 Siberian Reserve Division 

and 14 Siberian Reserve Division 
1618
T
T

59 Reserve Division 

79 Reserve Division –1 point

1318 
T
T

GK cavalry Division


1319
T 
T

26 and 43 Divisions


1419 
T
T

1 Army HQ and 5 supply

1520
T
T

3 Guard Division


1301
G
T

1 Rifle Bde



1302
G
T

2 Division –2 points


1302
G 
T

4 & 5 Siberian Divisions

 –2 points each


1302
G
T

30 & 40 Divisions –1 point each
1303
G
T

22 & 24 Divisions –1 point each
1304 
G 
T 22nd G 24th 

1 & 2 Siberian Divisions –1 each
1305
G 
T

17 & 18 Divisions


1306
G 
G

5 Army
& 5 supply points

1506
G
G

German set up

None

Russian Reinforcements

Turn/unit



Hex 
Map
Game unit from

November 4

3CaK  Cavalry Division

1302
G
G

NW Engineers



1803
G
G

4 Division



1718
T
T

6 Cavalry Division


1718
T
T

5 & 8 Cavalry Divisions

1304 
G
G

November 5

16 Division



1718 
T 
T

10 & 7 Divisions


1506 
G
G

6 Siberian Division


1819
T
T

4 DK Cavalry Division


1718
T
T

63 Reserve Division


1819
T
T

5DK and 1TK Cavalry Divisions
1506
G
G

November 6

1 & 2 Turk Bdes


1819
T 
T

75 & 55 Reserve Divisions

1819
T
T

Ur K 1KK 13 Cavalry Divisions

1405
G
G

November 7


47 & 48 Divisions


1506
G
G

any entry hexes that are blocked the Russian can enter at any hex that is the smallest amount of movement points from the original entry hex.

Conditional reinforcements

Enter at 1506 G the turn after the Germans first enter Lodz

38, 52, 21, 1 &
2 Grenadier Divisions and 45 Division –2 points 4 Army with 5 supply points (all from G)

German Reinforcements

November 4

9 Cavalry Division 35 36 & 1 Reserve

Divisions



1220
T
T

36, 49 & 50 Reserve 

3 Guard Divisions


1218
T
T

37 & 41 Divisions


1219
T
T

22 & 38 Divisions


1201
G
T

21 Land Bde



1217 
T
T

6  and 5 Cavalry Divisions

1204
G
T

November 5


8 Cavalry Division


1204
G 
T

7 Austrian Cavalry Division

1206
G
G

November 6


9 Army HQ & 10 supply 

(less any spent)


1220
T
T

4x 2-4 land Bdes


1205
G
T

9 & 3 Austrian Cavalry Divisions
1406
G
G

1 Division



1218
T
T

November 7

4 Cavalry Division 2 Division

1218
T
T

3,4 1 Grenadier and 48 Reserve

Divisions



1204
G 
T

December 1

31 & 32  Austrian Divisions

1206
G
G

47 Reserve Division


1204
G
T

December 2


27 & 2 Austrian Divisions

1206
G 
G


This is a nice quick reasonably hard fight, there are options for both sides. As there is little supply to go round players have to make tough choices. Do the Germans attack in supply to decimate the Russian line and hope Lodz is then weakly held or do they hold back supply to capture Lodz? For the Russians should supply be used to counterattack, saved to defend Lodz or saved so a counterattack on the German flanks can be made?
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